11@231 (K11a231)

/\ Linearized knot diagam
‘/ 1 6 10 3 4 2 11 5 8 9

Solving Sequence

410»2,5,7—»8—»1—>6—>34>94>11%>02,C5,087010

A knot dlagranﬂ cr cy Cg c3 Cog ~ C11

Ideals for irreducible component#ﬂ)f Xpar

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsTAILs/LinksPainter].


http://www.layer8.co.uk/maths/draw/index.htm#Running-draw
https://github.com/CATsTAILs/LinksPainter

It = (49503754u'® — 103286795u'® + - - - + 3447876362d — 235456666,
58457271u'® — 270451180u'® 4 - - - + 13791505448¢ — 14346071104,
31318034u'® — 423514703u™ + - - - + 6895752724 — 2520805844,
630201461u'% — 11977668541 + - - - + 137915054480 — 18642484192, u'” — 2u'® + .- — 4u? + 8)
I¥ = (4ufa + 14u’a — 3u® + 26u’a — 3u® + 26ua — 2u* + 8u?a + 3u® — 12au + 9u® + 10d — 14a + Yu + 8,
3ula + 3ula — ub + 2uta + 4u® — 3ula + 11u* — 9ua + 21u® — Yau + 18u? + 10¢ — 8a + 8u + 1,
—u® —2u* — 3u® + au — 2u® + b —u,
— 48 — 2uta — 9u® — 4ula — 15u* — 6ula — 10u® + 2a% — dau — 3u® — 2a + Tu + 7,
u” 4 3u® + 60’ + Tut + 5u® + u? — 2u — 2)
=W +d+u, ct+u, u* —2ua —u® 4+ au+u? +b—2a 1,
—uta+2ua — 3ula +ud +a® +2au —uP —a+2u—1, v’ —ut +2u —u? +u—1)
I = (—6u*a + va + 2u* — 15ua — 8u® + Sau + 5u® + 23d + 20 — 1Tu + 7,
—2uta — 15ua — Tut — 5ula + 5u® — 6au — 6u? + 23¢ — Ta — 21u + 10,
— 4uta + 16ua + 9u* — 10u%a — 13u® + 11lau + 11u? + 23b — 14a + 4u — 3,
—uta42ut —vPa+uP+a® —20u+u —a+4du+1, ub —ut + 20—t Fu—1)

Y= +d+u, c+u, —vr+ud—u?+0—-1, —u* —w? +a—1, v> —u + 20> — v +u—1)

I'={a,d+1,¢c+a,b—1,v+1)
I3={(a,d,c—1,b+1, v-1)
I{={(a,d+1,c+a—1,b-1v—1)

I} ={(c,d+1,cb+a—1,cv+av—c—v, bv—v+1)

* 8 irreducible components of dim¢ = 0, with total 59 representations.
* 1 irreducible components of dim¢ = 1

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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I I = (4.95 X 107u'% — 1.03 x 108u'® + --- + 3.45 x 10°d — 2.35 X
108, 5.85 x 107u'® — 2.70 x 108u!® + ... 4+ 1.38 x 10'% — 1.43 x 109, 3.13 x
107ul® — 4.24 x 108u!® + ... 4 6.90 x 10%b — 2.52 x 10°, 6.30 x 108u'6 —
1.20 x 10%u!® 4+ ... 4+ 1.38 x 10'%a — 1.86 x 101°, 47 — 2416 + ... — 4u? 4 8)

(i) Arc colorings

0

ajp = ( )
—0.0456949416 4 0.0868482u1° + - - - +0.0108537u + 1.35174
az = \ —0.00454164u® + 0.0614167u'® + - - - + 1.35174u + 0.365559
= ()
—0.00423864:6 4+ 0.0196100u + - - - — 0.366884u + 1.04021
a7 = \ —0.0143578u® + 0.0299566u5 + - - - — 0.201558u + 0.0682903
0.00853629u'% — 0.00271483u'® + - - - — 0.843158u + 0.201558
as = \ —0.0111327u% + 0.00527464u° + - - - — 1.04021u — 0.0339091
0.0196690u'% — 0.00798947u™® + - - - 4+ 0.197053u + 0.235467
a1 = \0.00442501u'% 4+ 0.0219877u'® + - - - + 0.882859u — 0.216879
0.0101191u'% — 0.0103467u'® + - - - — 0.165326w + 0.971920
ag = \ —0.0143578u¢ + 0.0299566u® + - - - — 0.201558u + 0.0682903
0.0101191u'% — 0.0103467u® + - - - — 0.165326w + 0.971920
a3 = \0.0191724u'% — 0.0450506w'° + - - - + 0.120605u — 0.147423
ag = (u + u>
0.0184279u'% — 0.0176833u'® + - - - + 0.128762u + 0.120605
a11 = \0.00318587u:1% — 0.0118199u!° + - - - + 0.824498u — 0.234332

0.0184279u:'% — 0.0176833u'® + - - - + 0.128762u + 0.120605
a1 = \0.00318587u'6 — 0.0118199u5 + - - - + 0.824498u — 0.234332

(ii) Obstruction class = —1

975451789 , 16 210120269 4 8037027246 2146878348

(iii) Cusp Shapes = 376 ~ Zaarstesez U T T723038181 U T 1723038181




(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,C7 u =2t . —8u+4
C2 u'” + 6u'® + -+ 4 88u + 16
€3, Cs5, Ce W out 4 3y
€8, 10, C11
C4,Cy u —2ut0 . — 4?2 + 8




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1, 7 Yyt — 6y ... 488y —16
C2 YT+ 10y + - + 288y — 256
€3,Cs5, Co g7 =20y 4 427y — 1
€8, C10, C11
€4, Co Yt 4+ 6yt 4+ 64y — 64




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1 (vol + y/=1CS)

Cusp shape

0.679716 + 0.5613581
0.75464 + 1.625931
—0.39979 + 1.528791
0.849883 + 1.0636401
0.073472 + 0.5786991

U
a
b

—3.14388 + 1.098651

—5.52136 — 1.098821

0.679716 — 0.5613581

= 0.75464 — 1.625931

—0.39979 — 1.528791
0.849883 — 1.0636401
0.073472 — 0.5786991

—3.14388 — 1.098651

—5.52136 4 1.098821

0.555749 + 1.0230301
—1.22318 — 0.964051

0.30647 — 1.787121

0.306715 + 1.1536401
—0.260592 + 0.7955941

—1.71782 — 5.902881

—0.75718 + 7.236951

0.555749 — 1.0230301
—1.22318 4 0.964051

0.30647 + 1.787121

0.306715 — 1.1536401
—0.260592 — 0.7955941

—1.71782 + 5.902881

—0.75718 — 7.236951

—1.247530 + 0.3183571
—0.254428 + 0.2482111
0.238386 — 0.3906481
—1.033850 + 0.1778241
—1.44180 + 0.152371

8.60033 — 1.914291

8.38805 + 0.332361

—1.247530 — 0.3183571
—0.254428 — 0.2482111

0.238386 + 0.3906481
¢ = —1.033850 — 0.1778241
d = —1.44180 — 0.152371

c
d
U
a

b

¢

d
U
a

b

c
d
U
a

b
c
d
U
a

b
c
d
U
a

b

8.60033 + 1.914291

8.38805 — 0.332361




Solutions to I}

V=1(vol + v=1CS)

Cusp shape

—0.022849 + 0.6957801
0.596447 — 0.5215151
0.349231 + 0.4269121
0.070481 — 0.3423321

—0.556553 — 0.2440291

0.88275 + 1.297941

5.86581 — 6.228041

—0.022849 — 0.6957801
0.596447 + 0.5215151
0.349231 — 0.4269121
0.070481 + 0.3423321

—0.556553 + 0.2440291

>~ Q@ gl o o8 8
1 | [

0.88275 — 1.297941

5.86581 + 6.228041

1.235140 + 0.5600241
= —1.37636 — 0.887771
—1.20283 — 1.867311
—1.030900 — 0.3153981
—1.43635 — 0.270401

6.85439 + 7.492451

6.04980 — 5.006521

1.235140 — 0.5600241
= —1.37636 + 0.887771
= —1.20283 + 1.867311
—1.030900 + 0.3153981
—1.43635 4+ 0.270401

O o 9 gl 0 o8 gl o
Il I

2la
Il

6.85439 — 7.492451

6.04980 + 5.006521

—0.66454 + 1.333081
—0.189517 — 0.2550941
b= 0.466001 — 0.0831221
c= 0.052946 + 1.2674801
d = 1.48587+ 0.32095]

11.9481 + 8.67701

9.06927 — 4.382691

u = —0.66454 — 1.333081
a = —0.189517 + 0.2550941
b= 0.466001 + 0.0831221
c= 0.052946 — 1.2674801
d= 1.48587 —0.320951

11.9481 — 8.67701

9.06927 4 4.382691




Solutions to I}

V=1(vol + y=1C)

Cusp shape

0.79652 + 1.268511
= 0.52130 + 1.703601
= —1.74580 + 2.018221
0.18365 — 1.469541
1.45618 — 0.387791

9.1924 — 14.73541

6.16899 + 8.159271

0.79652 — 1.268511
0.52130 — 1.703601
= —1.74580 — 2.018221
c= 0.18365 + 1.469541
d= 1.45618 + 0.387791

U
a
b
c
d
U
a
b

9.1924 + 14.73541

6.16899 — 8.159271

u = —0.11728 + 1.545471
a = —0.380984 + 0.5299581
b= —0.774348 — 0.6509531
c = —0.113527 4+ 0.2171541
d=1.58385+ 0.055581

15.7365 + 3.27601

10.07807 — 2.582901

u = —0.11728 — 1.545471

a = —0.380984 — 0.5299581
b= —0.774348 + 0.6509531
c = —0.113527 — 0.2171541

15.7365 — 3.27601

10.07807 + 2.582901

d= 1.58385 — 0.055581

u = —0.429856

a= 110419

b= —0.474641 —1.29941 —8.68290
c= 142921

d= 0.191836




II. I} = (4u®a —3uS+.-- —14a + 8, 3uba —u® +-.- —8a+1, —u® —2u* +
oot b—u, —4ub —9u+ .- —2a+7 u" +3ub +-.- —2u—2)

(i) Arc colorings

0
a10 = \u
a
az = <u5 + 2u* 4+ 3u® — au + 2u? —|—u>
1
a5: <u2
(f’uﬁa+110u6+o +%a7i0
a7 = _ 2,6 3.6 . T4
7 5ua+10u + +5a 5
1 1
GO R
ag = 3 3 ._3,_4
8 suta+ qpu + 5075
1,6 1,6 2 e
I O P
ay = 73'[,&0,7%'& —+ +ga+g
%uﬁa—lu6+--~—%a+%
4
ae = —%u(ja—l—f—ouﬁ—l— ~-—|—%a—g
1,6 1,61 ..._3 e
I O P
az = 73'&@7%'& —+ +g(l+g
U
ag = ud 4+ u
—1—10u6a+1u6+- —%a—é
an =\ —gula— q5ul+ -+ ga—3

(ii) Obstruction class = —1

(iii) Cusp Shapes = 2uS + 8u® + 10u? + 10u® — 4u



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1, 7 (u” —ub —u® 4 2u* + v — 2u? Fu+1)?
€2 (u” + 3ub + Tu® 4 8u* + 9u® + 6u® + Su + 1)?
C3,C5,C6 U14+U13+"'_4u_4
€8, C10, C11
4, Cy (u” + 3u® + 6u° + Tut + 5u’ 4 u? — 2u — 2)?

10



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,cr (y" — 3y° 4+ Ty — 8y* + 9y — 6y* + 5y — 1)?
C2 (y" + 5y° + 19y° + 36y* + 49y° + 38y* + 13y — 1)?
€8, 10, C11
cas € (" +3y° +4y° +y' —y* + Ty + 8y — 4)°

11



Solutions to I3

(vi) Complex Volumes and Cusp Shapes

V=1 (vol + y/=1CS)

Cusp shape

—0.984140 + 0.4261521
—0.84548 4 1.172161
—0.51690 + 2.367961
—0.883662 + 0.2408591
—1.312740 + 0.203166.1

U
a
b

1.19445 — 3.930701

1.74059 + 4.872301

—0.984140 + 0.4261521
= 1.31968 — 1.834671
0.33256 — 1.513871
1.03098 — 1.451951
0.327402 — 0.7096331

1.19445 — 3.930701

1.74059 + 4.872301

—0.984140 — 0.4261521
—0.84548 — 1.172161
—0.51690 — 2.367961
—0.883662 — 0.2408591
—1.312740 — 0.203166.1

1.19445 + 3.930701

1.74059 — 4.872301

—0.984140 — 0.4261521
1.31968 + 1.834671
0.33256 + 1.513871
1.03098 + 1.451951
0.327402 + 0.7096331

1.19445 + 3.930701

1.74059 — 4.872301

—0.167785 + 1.2187801

—0.774541 — 0.8277621
0.139458 + 0.6518971

—0.828730 4 0.5017001
1.42814 + 0.080001

7.14223 — 0.955401

8.68929 + 2.370831

—0.167785 + 1.2187801

0.509470 — 0.1845621
= 1.138810 — 0.8051071
c = —0.353234 + 0.8748461
d = —0.830837 + 0.6938451

c
d
U
a
b
¢
d
U
a
b
c
d
U
a
b
c
d
U
a
b
c
d
U
a
b

7.14223 — 0.955401

8.68929 + 2.370831

12



Solutions to I3

V=1 (vol + y/=1CS)

Cusp shape

—0.167785 — 1.2187801

= —0.774541 + 0.8277621
0.139458 — 0.6518971

—0.828730 — 0.5017001
1.42814 — 0.080001

7.14223 + 0.955401

8.68929 — 2.370831

—0.167785 — 1.2187801
0.509470 + 0.1845621
1.138810 + 0.8051071

—0.353234 — 0.8748461

—0.830837 — 0.6938451

>~ Q@ gl o o8 8
1 | [

7.14223 4 0.955401

8.68929 — 2.370831

—0.654547 + 1.2024701
1.13788 — 1.101091

—1.38518 — 2.038981

—0.09289 4 1.460191
1.42086 + 0.317651

3.65356 + 9.930651

3.53972 — 7.336641

—0.654547 4 1.2024701

—0.82436 + 1.600671
0.57924 + 2.088981
0.223021 — 1.3209301

—0.281398 — 0.9478211

>~ Q@ gl o0 oo 2 gl o

o
Il

3.65356 + 9.930651

3.53972 — 7.336641

—0.654547 — 1.2024701
1.13788 + 1.101091

—1.38518 4 2.038981

c = —0.09289 — 1.460191

d= 1.42086 — 0.317651

SIS
[

3.65356 — 9.930651

3.53972 + 7.336641

u = —0.654547 — 1.2024701
a = —0.82436 — 1.600671
b= 0.57924 — 2.088981
c= 0.223021 + 1.3209301
d = —0.281398 + 0.9478211

3.65356 — 9.930651

3.53972 4 7.336641

13



Solutions to I3

V=1 (vol + v/=1C)

Cusp shape

0.612945

0.738956

1.97108
—0.686858
—1.15162

2.33847

2.06080

0.612945
3.21576
= 0.452939
c= 3.49590
d= 0.648769

U
a
b
c
d
U
a
b

2.33847

2.06080

14



IL 1% = (u*4+d+u, c+u, u* —ud+-.-—2a—1, —ua+2u?a+---—

1, b —ut +2u® —u?+u—1)

(i) Arc colorings

1
a4

0
a10 = \u

a

ut+2ua+ud —au—u+2a+1
i)

wr—vwta—wdtautui—a-—1

¢
(-
(v
("
as = ( ta+ula — 2ua + au — u? —2a+u—1>
(
(-
(o
-
(-

ag =
as =

a7 =

uta — uda 4+ ut + ua — ud + 2u? —|—a—u)
ay =

2ula + 2a + 1
; )

ut u+u +1>
o)

a
ut + 2u?a + ud — au — u? —|—2a—|—1)

ag —

az =

ag =

ail =
a

a1 =\ —u*+2u%a+ud —au—u2+2a+1

(ii) Obstruction class = —1

(iii) Cusp Shapes = —4u® + 4u? — 4u + 6

15



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
€1,¢7, C8 ul® —u® — 208 + 40" — 4w’ + 3ut +ud — 2%+ 1
€10, C11
C2 u® 50 4 dut 1
c3,C5,Ce (u5—|—u4—2u3—u2—|—u—1)2
¢4, Cg (u® —ut + 203 —u? 4+ u—1)?

16



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C7,C8 y10_5y9+._._4y+1
€10, C11
c2 y'% —y? = 6y" +22y° + 6y° + 45y* + 15y° + 22y% + 4y + 1
¢3,Cs5,Co (y° — 5yt + 8y> — 3y% —y — 1)?
€1, €9 (v +3y" +4y° +y* —y - 1)?

17



(vi) Complex Volumes and Cusp Shapes

Solutions to I§ VvV—1(vol + /—1CS) Cusp shape

—0.339110 + 0.8223751
—1.058210 — 0.4186241
0.107804 + 1.2005701 0.32910 4 1.530581 2.51511 — 4.430651
0.339110 — 0.8223751
—0.309916 — 0.5499111

SO ST
([

—0.339110 + 0.8223751
= —0.24156 — 1.728311
—1.43677 — 1.975221 0.32910 + 1.530581 2.51511 — 4.430651
0.339110 — 0.8223751
—0.309916 — 0.5499111

—0.339110 — 0.8223751
—1.058210 + 0.4186241
0.107804 — 1.2005701 0.32910 — 1.530581 2.51511 4 4.430651
0.339110 + 0.8223751
—0.309916 + 0.5499111

—0.339110 — 0.8223751
—0.24156 + 1.728311
—1.43677 + 1.975221 0.32910 — 1.530581 2.51511 + 4.430651
0.339110 + 0.8223751
—0.309916 + 0.5499111

> Q Bl 0 o g0 o9 gl o
I

0.766826
= 0.337181 4+ 0.5318351

= —0.766826
=—1.21774

= 0.766826

= 0.337181 — 0.5318351

= 1.32946 — 1.281311 2.40108 3.48110
c= —0.766826
d=—-1.21774

c
d
U
a
b= 1.32946 + 1.281311 2.40108 3.48110
c
d
U
a
b

18



Solutions to I3

V=1 (vol + y/=1CS)

Cusp shape

0.455697 + 1.2001501

1.128480 — 0.0893271
—0.91615 4+ 1.818521
—0.455697 — 1.2001507

1.41878 — 0.219171

5.87256 — 4.400831

6.74431 + 3.498591

0.455697 + 1.2001501
—0.665888 + 0.2357371

0.415657 — 0.2527881
—0.455697 — 1.2001501

1.41878 — 0.219171

>~ Q@ gl o o8 8
1 | [

5.87256 — 4.400831

6.74431 + 3.498591

0.455697 — 1.2001501

1.128480 + 0.0893271
—0.91615 — 1.818521
—0.455697 + 1.2001507

1.41878 + 0.219171

5.87256 + 4.400831

6.74431 — 3.498591

0.455697 — 1.2001501
—0.665888 — 0.2357371
= 0.415657 + 0.2527881
c = —0.455697 + 1.2001501
d= 1.41878+0.219171

>~ Q@ gl o0 oo 2 gl o

5.87256 + 4.400831

6.74431 — 3.498591

19



IV. I} = (—6u*a+2u*+---+2a+7, —2u*a—Tu*+.--—T7a+10, —du*a+
9ut+ ... —14a -3, —ua+2u*+---—a+1, u® —u* +2ud —u? +u-—1)

(i) Arc colorings

a
0.173913au* — 0.391304u* + - - - 4 0.608696a + 0.130435)
as =

ar = \0.260870au* — 0.0869565u* + - - - — 0.0869565a — 0.304348

( 0.0869565au* + 0.304348u* + - - - 4 0.304348a — 0.434783 >
w2 +1
ag = u?
a1 = (
—0.173913au* + 0.391304u* + - - - 4+ 0.391304a — 0.130435
0.260870au* — 0.0869565u* + - - - — 0.0869565a — 0.304348

—0.173913au* + 0.391304u” + - - - + 0.391304a — 0.130435
0.173913au* — 0.391304u* 4 - - - + 0.608696a + 0.130435

ag —

(ii) Obstruction class = —1

(iii) Cusp Shapes = —4u® + 4u? — 4u + 6

20



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
€1, €3, 5 wl® — 0 — 208 + 40" — 4w’ +3ut +ud — 20+ 1
Ce, C7
C2 u® 50 4 dut 1
€4, Cy (u® —u* +2u —u? +u—1)3
cs, €10, C11 (u5—|—u4—2u3—u2—|—u—1)2

21



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,C3,C5 y10_5y9+._._4y+1
Ce, C7
c2 y'% —y? = 6y" +22y° + 6y° + 45y* + 15y° + 22y% + 4y + 1
ca, ¢ (v° +3y" +4y° +° —y - 1)
€8, €10, C11 (v’ —5y* +8y° =3y —y — 1)

22



(vi) Complex Volumes and Cusp Shapes

Solutions to I}

V=1(vol + y/=1C)

Cusp shape

SO ST
[ | T

—0.339110 + 0.8223751
1.201520 — 0.6265421
0.703115 — 0.7282841

—0.427719 4 0.4949301

—0.926127 + 0.3931881

0.32910 + 1.530581

2.51511 — 4.430651

—0.339110 + 0.8223751

= —1.43707 + 2.339681

1.50324 + 0.387431
—1.70427 + 2.108971
1.236040 4- 0.1567231

0.32910 + 1.530581

2.51511 — 4.430651

—0.339110 — 0.8223751
1.201520 + 0.6265421
0.703115 + 0.7282841

—0.427719 — 0.4949301

—0.926127 — 0.3931881

0.32910 — 1.530581

2.51511 + 4.430651

> Q Bl 0 o g0 o9 gl o
O T | I

—0.339110 — 0.8223751

—1.43707 — 2.339681
1.50324 — 0.387431

—1.70427 — 2.108971
1.236040 — 0.1567231

0.32910 — 1.530581

2.51511 + 4.430651

0.766826

1.73372 4+ 1.670921
0.258559 + 0.4078251
2.08403 + 1.598001
0.608868 + 0.3349041

2.40108

3.48110

QL 0 o2 22 0 o8 &l o
I T | Il

0.766826

1.73372 — 1.670921
0.258559 — 0.4078251
2.08403 — 1.598001
0.608868 — 0.3349041

2.40108

3.48110
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Solutions to Ij

V=1 (vol + y/=1CS)

Cusp shape

0.455697 + 1.2001501

1.07098 + 1.170021

0.62145 + 1.313641
—0.568964 — 0.7885131
—1.018500 — 0.6448911

5.87256 — 4.400831

6.74431 + 3.498591

0.455697 + 1.2001501
—0.069156 — 0.3725951
—0.586363 — 0.6917421

0.116920 + 1.1832001
—0.400287 4 0.8640561

>~ Q@ gl o o8 8
1 | [

5.87256 — 4.400831

6.74431 + 3.498591

0.455697 — 1.2001501

1.07098 — 1.170021

0.62145 — 1.313641
—0.568964 + 0.7885131
—1.018500 + 0.6448911

5.87256 + 4.400831

6.74431 — 3.498591

0.455697 — 1.2001501
= —0.069156 + 0.3725951
= —0.586363 + 0.6917421
0.116920 — 1.1832001
d = —0.400287 — 0.864056.1

>~ Q@ gl o0 oo 2 gl o
I

o
Il

5.87256 + 4.400831

6.74431 — 3.498591
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V. I;L =
(ud+d+u, c+u, —ur+ud—u?+b—1, —u?—u?+a—1, u®—ut+2u3—u?+u—1)

(i) Arc colorings

as =

ap =

ag —

(ii) Obstruction class = —1

(iii) Cusp Shapes = —4u® + 4u? — 4u + 6
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C3,Cs
5 4 3 2
C6, C7, Cs u’ +ut —2u” —u'+u—-1
€10, C11
C2 u 4+ 5ut + 8ud +3u? —u+1
C4,Co wWout 20— tu—1
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C3,Cs
C6, 1y Ca Y’ =5yt + 8y =3yt —y—1
€10, C11
C2 y® — 9yt +32y% — 35y — 5y — 1
€4, Co 3yt A+t -y -1
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(vi) Complex Volumes and Cusp Shapes

Solutions to I VvV—1(vol + /—1CS) Cusp shape

uw = —0.339110 + 0.8223751
a= 0.442672 4 0.0683871
b = —0.206354 + 0.3408521 0.32910 4 1.530581 2.51511 — 4.430651
c= 0.339110 — 0.8223751
d = —0.309916 — 0.5499111

u = —0.339110 — 0.8223751
a= 0.442672 — 0.0683871
b= —0.206354 — 0.3408521 0.32910 — 1.530581 2.51511 + 4.430651
c= 0.339110 + 0.8223751
d = —0.309916 + 0.5499111

u= 0.766826
1.93379
b= 1.48288 2.40108 3.48110
c = —0.766826
d=—-1.21774

u= 0.455697 + 1.2001501
a= 0.09043 — 1.602881
b= 1.96491 — 0.621901 5.87256 — 4.400831 6.74431 + 3.498591
¢ = —0.455697 — 1.2001501
d= 1.41878 —0.219171

u= 0.455697 — 1.2001501
a= 0.09043 + 1.602881
b= 1.96491 + 0.621901 5.87256 + 4.400831 6.74431 — 3.498591
c = —0.455697 + 1.2001501
d= 1.41878 +0.219171
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VL I} =(a,d+1,c+a, b—1, v+1)

(i) Arc colorings

ag =

az =

(ii) Obstruction class =1

(iii) Cusp Shapes = 12
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C2,C4 U
C7, Co
cs3,Cs u+1
€5, C6, C10 w—1
C11

30



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,C4 Yy
C7, Co
€3,C5,C6 y—1
€8, C10, C11
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(vi) Complex Volumes and Cusp Shapes

Solutions to I} V—1(vol +/=1CS) Cusp shape
v = —1.00000
a= 0
b= 1.00000 3.28987 12.0000
c= 0
d = —1.00000
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VII. Iy ={a, d, c—1, b+1, v—-1)

(i) Arc colorings

u- (o)

aip =

—

a9 =

|
o
S~—

as =

—= = O = O
~

—_

ag =

o

az =

O = O

N—— — 0

ag =

2

=

o
\

\
— o
N—

o

ail =

|
[t

Q

=

I
/—\/—\/—\/\/\/l—l\/—\/—\/\/—\/—\

—_ =

N———

)

(ii) Obstruction class =1

(iii) Cusp Shapes =0
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
€1, €10, €11 u—1
Co,C7,C8 u—+1
€3,C4,C5 u
Ce, Co
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,Ct Y — 1
€8, C10, C11
C3,C4,Cs5 y
Ce, C9
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(vi) Complex Volumes and Cusp Shapes

Solutions to 1Y v/—1(vol ++1/—1CS8) | Cusp shape
v = 1.00000
a= 0
b = —1.00000 0 0
c= 1.00000
d= 0
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VIIL. I{ = (a, d+1,c+a—1,b—-1, v—1)

(i) Arc colorings

ag =

az =

(ii) Obstruction class =1

(iii) Cusp Shapes =0
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
€1,C2,C3 u+1
C4,Cs, C
4,08, C9 U
€10, C11
Cs, Cg, C7 u—1
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,C3 Y — 1
Cs5,C6, CT
C4,C8,C9 y
€10, C11
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(vi) Complex Volumes and Cusp Shapes

Solutions to I¥ v/—1(vol ++1/—1CS8) | Cusp shape
v = 1.00000
0
b= 1.00000 0 0
c= 1.00000
d = —1.00000
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IX. Iy =(c,d+1,cb+a—1, cv+av—c—v, bv —v+1)

(i) Arc colorings

(

(

(

o=
e ()

-

(

(

(

(

ag =

ag = 0
v+1
a1l = \b—-1
v+1
a1 =\b—-1
(ii) Obstruction class = —1

(iii) Cusp Shapes = b? +v% —2b+5

(iv) u-Polynomials at the component : It cannot be defined for a positive
dimension component.

(v) Riley Polynomials at the component : It cannot be defined for a positive
dimension component.
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(iv) Complex Volumes and Cusp Shapes

Solution to I} | v/—1(vol ++/—1CS) Cusp shape
v = e e .
a = e ..
b= 1.64493 3.74053 4+ 0.278521

C =

42



Crossings

X. u-Polynomials

u-Polynomials at each crossing

C1,C7

u(u — 1) (u41)(u® +u* —2u® —u? +u—1)

S(u” =S —u® 4 2ut - 20 4w+ 1)?

C(u'® —u® = 2u® 4" — 4u® F 3ut 4 - 20 1)
(T =20t 4~ Bu - 4)

C2

w(u + 1)%(u® + 5u* + 8u® 4+ 3u? —u +1)
u” + 3ub + Tu’ + 8ut + 9uP 4 6u? + 5u +1)2

- (
(W + 50 + -+ A+ 1)) (T + 6ut® + -+ 88u + 16)

C3,Cs

u(u+1)*(u® +ut —2u® —u? +u—1)°
St —u® = 2u® 4 40" — 4ud + 3ut Fud — 20 1)
Mt a4 —du—4) (T 20 Bu 1)

C4,Cg

uwd(u® —ut + 20 —u? +u—1)°
(W 3uS = 2u—2)H) (T — 2u!C - — 4u? 4 8)

Cs5,C6,C10

C11

u(u —1)*(u® +ut = 2u® —u? +u—1)°
St —w® — 2uB 4 40" — 4ud + 3ut Fud — 20 1)
Mt a4 —du—4) (T 20 Bu 1)
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XI. Riley Polynomials

Crossings Riley Polynomials at each crossing
.. yly — (" -5y +8y° = 3y° —y - 1)
1,¢C7
(y" = 3y°% + Ty® — 8yt +9y* — 6y* + 5y — 1)?
(@ =5y 4+ — Ay + D) (Y — 6y + - + 88y — 16)
y(y — 1)°(y° — 9y* + 32y — 35y° — 5y — 1)
C
? (Y + 5yS + 1997 + 36y* + 49y® + 38y + 13y — 1)
(' —y? — 6y + 225 + 69 + 45yt + 1597 4 2297 + 4y + 1)?
(y'" 4+ 10y'% 4 - - + 288y — 256)
o6 | yly— 120 =Byt 4 —y— 120 =5y’ 4 —dy + 1)
¢s, €10, C11 (M =11y 4 — 40y +16) (v — 2091 -+ 27y — 1)
VO 3y 4+ -y —1)°
C4,Cg

(YT 3y 4yt oyt -y Ty 8y — 4)?
(YT 6y 4+ 64y — 64)
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